Pm‘&o( ﬂhf 4/@%5

O AT T rh
M M. \&/Ful(é?
m(g Vi ty ,_r

ST -QT =
FM{“Y = T’-WIU} ?M@M = Mg - Fod,y - T-2T =0

“T'mtym.%v mlg,‘rsm% = dr-9-T

’F/mbj:m,[jzg) = T((—}'”ﬁ): Qm.j

mr
’r: 2""lt"ll_j
Moy
TL = AT = 4"71"‘"1.5 - 5% L/\}
Mmotnr
@ - Fro.
S twm
o o
(M
x ms \7 \/Mj

(\)“L M ﬁ&x - F‘ i‘/ui Sin& = M%z: N F— Zﬂi snf = M}ffzm@
‘T:: ?,(M‘FM)"!‘@VL@




ty Ty

?YT M. X&/a“
meg

mey
FN},X 5 Mg sinf-T =0 Fuﬁlx: T’VMLJ s =0
Fwﬁ‘{ < F/u.’”'lﬁ g =0 Fdy = - M) en@ =0

T: Wl,_‘i gl'ﬂQ\' = Ml% S\"\@‘L '21} VM;: M) S:l_’_t_gf = 7(3 kg
Sindz—
- MlﬁSh’l 9[ - ZS?\)

fcs T-To = mv” Pdrs To =m”
F’“}p“’l = FN{ 'WIL‘)’/O FM%‘VI = /mlg
v,z 27N V,- %
K3 t

Taz M - M. CZTW’;.)L; Lfothzrz//fL
n+

+ " [?—Tfﬂ)‘/

T - W (Y‘uﬁ ‘*”‘"‘G/)
_tl/




| ox
! FM)Q.,K = Ty sl = 1\_\12’
2.
R= ¢ swd ﬁ\&,q = Futo9 — M4 2o
VER LA S = sz Y lwmes
M) @ = MVE . wm (gm?w@ 2
g - QY "'—’_F

o= )£ [umer

T x = Tanl= M7/

ok, = Tw»@"’lj =0
2 T=my/lwd

) 5@ = Mt
Gr 0 R

U= Varded = 200 mi




